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91. Answer: (3)
         

 Explanation:

 “above sentence” above sentence (Noun)

modify Adjective 

 “Come from above” above Noun 

preposition “from” Object above 

Heavens/God represent 

92. Answer: (2)
         

 Explanation:

 “Prices are up” up Adverb 

Verb “are” Modify Prices Condition/

position Indicate 

 “go up the hill”  up  Preposition 

 movement 

93. Answer: (1)
         

 Explanation:

 “He is no more” no Adverb 

‘more’ Adverb modify 

 “It is no joke” no Adjective 

Noun “Joke” modify 

94. Answer: (4)
         

 Explanation:

 “about” “told” & “the battle” 

it is indicating a topic, thus

functioning as a preposition.

95. Answer: (2)
         

 Explanation:

 Adverb verb, adjective, adverb 

96. Answer: (1)
         

 Explanation:

 Beauty - formed from the adjective “Beautiful.”

 Childhood - formed from the noun “child.”

 Gold - material Noun

 Strengthen - Verb

97. Answer: (2)
         

 Explanation:

 Later and latest refer to time.

 Latter and last refer to position.

 # Positive         Comparative          # Superlative

   Late               later/latter                latest/Last

98. Answer: (3)
         

 Explanation:

 “These” Mangoes (Noun) 

Modify Specific mangoes 

point out Demonstrative Adjective

99. Answer: (3)
         

 Explanation:

 “I shall ......... home.”

 Tense Future perfect tense 

Structure 

Shall have/will have + Verb IIIrd form

100. Answer: (2)
         

 Explanation:

 Main verb - was (past tense of be)

 busy - Adjective

 in repairing an old radio - Prepositional phrase

showing the activity.

 So, the tense is Simple past tense with a stative

verb “was”.
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101. Answer: (3)
         

 Explanation:

 Present perfect tense use 

letter Present moment 

Complete (Up to now)

 Has/have + past participle (verb III form)

102. Answer: (1)
         

 Explanation:

 Some verbs know, believe, understand, love,

hate, like, want are stative verbs.

 They describes a state or possession of knowledge/

feeling, not an action.

 Stative verbs are not normally used in continuous

(-ing) form.

 Sentence Since/for use 

Present perfect (have known) use 

103. Answer: (2)
         

 Explanation:

 This describes an ongioing action in the past

(mending the roof) that was interrupted by another

past action (falling off the ladder)

104. Answer: (3)
         

 Explanation:

 This uses the past perfect tense to refer to an action

that happened before another past action (thinking).

 Verb II + After + had + Verb III

 had + Verb III + Before + Verb II form

105. Answer: (2)
         

 Explanation:

 After phrase like “the first time”, “the second time”,

“never before”, we usually use present perfect

tense.

 The phrase “the first time” refers to an experience

up to now.

106. Answer: (4)
         

 Explanation:

 Active Voice - Subject (The police) + have + Past

participle (arrested) + object (him)

 Passive voice - object (him - he) + has been + past

participle (arrested) + by + Subject (the police)

107. Answer: (3)
         

 Explanation:

 Half active Half passive structure

Quasi-passive 

 Passive Subject (the cakes) 

Complement (Short & crisp) 

 When Clause main verb 

Passive formation 

108. Answer: (1)
         

 Explanation:

 Object “him” becomes the Subject “He” in passive

formatin

 Let go - was let go

(past simple)

 By her (indicating the agent)

109. Answer: (2)
         

 Explanation:

 The original sentence is an imperative Sentence.

Passive structure will be as-

 Let + object + be + past participle.

110. Answer: (3)
         

 Explanation:

 The originat sentence is an interrogative sentence

in the present continuous active voice.

 The Structur changes to -

Why is + object + being + past participle + by agent.
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111. Answer: (3)
         

 Explanation:

 The given sentence is an interrogative sentence with

a polite request.

 Said - requested

 Conjunction - if/whether

 You - I

 Me - him

 Could remains the same as it is already in the past

tense.

112. Answer: (3)
         

 Explanation:

 The correct transformation of the direct speech into

indirect speech is to use a verb that conveys the

act of wishing.

113. Answer: (4)
         

 Explanation:

 Interrogative sentence in direct speech to indirect

Speech-

 Reporting verb changes ‘told’ to ‘asked’.

 The question word is retained (conjunction)

 Sentence structure becomes affirmative

 Today - that day.

 Are leaving - was leaving

114. Answer: (3)
         

 Explanation:

 This is an optative Sentence expressing a wish/

prayer.

 Said - prayed

 Conjuncton - that

 May - Might

115. Answer: (1)
         

 Explanation:

 This is an imperative sentence in indirect speech.

 To convert it back to direct speech, we need a

command/instruction from the father.

116. Answer: (1)
         

 Explanation:

 This is a sentence in indirect speech expressing a

suggestion.

 To convert it back to direct speech.

 The suggestion is often expressed with “Let us .......”

or “we should .....”.

117. Answer: (3)
         

 Explanation:

 We need to change the tense and introduce an

auxiliary very appropriate for forming a question in

the past tense.

 Also changing “never” to “ever” to maintain the

meaning in a question.

118. Answer: (2)
         

 Explanation:

 A compound sentence consists of two or more

independent clauses joined by a coordinating

conjunction (such as and, but, or, yet, so).

 The original Sentence expresses a contrast (but).

 Third option uses “but” which correctly conveys the

contrasting relationship between being poor & being honest.

119. Answer: (2)
         

 Explanation:

 A simple sentence contains only one independent

clause.

 Option (2) transforms the sentence into a simple

sentence by using a participle phrase (seeing her

result) to convey the action.
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120. Answer: (2)
         

 Explanation:

 This uses the “so ........ that” construction to show

cause and effect which is characteristic of a complex

sentence.

121. Answer: (1)
         

 Explanation:

 The original sentence implies that every one makes

mistakes.

 The negative transformation must convey the same

meaning.

 “no man who does not make mistakes” effectively

states that every man makes mistakes.

122. Answer: (3)
         

 Explanation:

 The original sentence is an interrogative sentence

implying that one should not waste time.

 The assertive sentence (option-3) should directly

state this implication.

123. Answer: (2)
         

 Explanation:

 The sentence is a conditional sentence (Type-1)

which describes a real and possible situation.

 The structure is “It + simple present, will + base

verb.”

124. Answer: (2)
         

 Explanation:

 This is a conditional sentence (Type-2), describing

an unreal or by pothetical situation.

 The structure is “If + simple past, would + base

verb.”

125. Answer: (4)
         

 Explanation:

 This is a conditional sentence (Type-3), describing

an unreal situation in the past.

 The structure is “If + past perfect, would have +

past participle (V3rd form).”

 The given sentence also requires a passive voice

construction for “the work.”

126. Answer: (3)
         

 Explanation:

 This is a subjunctive mood construction used for

unreal situation, often with ‘If I were you.’

 It expresses a wish or a contrary to fact condition.

127. Answer: (2)
         

 Explanation:

 The under lined clause modifies the noun “friends”

by describing them.

 Adjective clauses also known as relative clauses,

begin with relative pronoun.

128. Answer: (1)
         

 Explanation:

 The under lined clause functions as the direct object

of the verb “tell.”

 Noun clauses act like nouns and can serve as

subjects, objects or complement in a sentence.

129. Answer: (2)
         

 Explanation:

 The underlined clause in the sentence functions as

an adjective clause because it modifies the pronoun

“All”



 21Kalam Academy, Sikar | Jaipur

2025 Level-2 (English) Major Test-01

130. Answer: (1)
         

 Explanation:

 The underlined clause functions as the subject of

the verb “Sees”.

 It answers the question “who sees the most?”

 Therefore, it is a noun clause.

131. Answer: (1)
         

 Explanation:

 The underlined clause functions as the object of the

verb “fulfilled.”

 Therefore, it is a noun clause.

132. Answer: (3)
         

 Explanation:

 The underlined clause is an adverbial clause of

concession, indicating a contrast to the main clause

“I am honest.”

133. Answer: (3)
         

 Explanation:

 The underlined clause indicates the reason why the

speaker spoke to his brother.

 Therefore, it is an adverb clause of Reason.

134. Answer: (4)
         

 Explanation:

 The underlined part is main clause and the next part

of the sentence is subordinate clause.

 “Which my teacher suggested me” modifies the noun

“book” by providing more information about it,

functioning as an adjective clause.

135. Answer: (2)
         

 Explanation:

 break into - To enter a building illegaly, typically by

force.

136. Answer: (2)
         

 Explanation:

 Come down with means to have or suffer from an

illness.

 e.g. she came down with measles.

137. Answer: (4)
         

 Explanation:

 Get along means to have a friendly relationship with

someone.

138. Answer: (3)
         

 Explanation:

 Take over means to assume control or responsibility

for something.

139. Answer: (3)
         

 Explanation:

 The idiom “all bark and no bite “describes someone

who is threatening or aggressive in words but not in

actions.

140. Answer: (3)
         

 Explanation:

 To “beat around the bush” means to avoid getting

to the point or dissussing the main issue.

141. Answer: (4)
         

 Explanation:

 The correct idiom/phrase meaning “to be in a risky

position is to walk on thin ice.

 This idiom implies being in a precarious or

dangerous situation where one must be very careful

not to make a mistake.

142. Answer: (4)
         

 Explanation:

 The correct synonym of the given word is plentiful.

 Both words refer to a large quantity or amount of

something.
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143. Answer: (4)
         

 Explanation:

 The correct synonym of the underlined word is

Ample. 

 Both mean enough or adequate.

144. Answer: (3)
         

 Explanation:

 The correct synonym of confess is Admit. 

 To confess means to admit to something especially

a fault/crime.

145. Answer: (3)
         

 Explanation:

 The correct antonym of affluent is Poor.

 Affluent means wealthy. 

 Poor 

146. Answer: (3)
         

 Explanation:

 The correct antonym of ‘Assent’ is ‘Dissent’

 Assent means aggrement/approval. 

 Dissent means disaggrement 

147. Answer: (3)
         

 Explanation:

 The correct antonym of ‘Hinder’ is Facilitate.

 Hinder means to create difficulties. 

 Facilitate means to make an action or process easy/

easier. 

148. Answer: (1)
         

 Explanation:

 The school/college in which one has been educated

is called “Alma mater.”

 Anonymous - 

 Aesthetics - 

 Connoisseur - 

149. Answer: (2)
         

 Explanation:

 A person who comes from one country to another to

settle there is an immigrant.

 Innovator - 

 Gullible - 

 Ingenuous - 

150. Answer: (2)
         

 Explanation:

 A person who collects stamps is a philatelist.

 Pedestrain - 

 Pacifist - 

 philologist - 


